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SUPPLEMENTARY NOTES – D & D GREENWOOD

LEAPING MICHAELS

2♥/♠ (weak) 4♣      =  ♣ + other Major
                     4♦      =   ♦ + other Major

2♥/♠   4♣   P  4♦     =  superfit for ♣
                      4♥/♠  =  superfit for other Major

2♥  4♦  P 4♥          = superfit for ♦
                4NT       = superfit for ♠ (must be prepared to play at 5-level)
P   4NT                  = RKCB in ♦ (if interested)
      5♣                    =    “       in ♠           “

2♠  4♦  P  4♠          = superfit for ♦
                4NT       = superfit for ♥

P   4NT                  = RKCB in ♦ (if interested)
       5♣                   =     “      in ♥           “ 

2♥/♠  5♦                = to play



NON-LEAPING MICHAELS	
3♣ 4♣ = Majors
3♣ 4♦ = ♦ + a major
3♦ 4♣ = ♣ + a major


MICHAELS CUE BIDS
(1♣/1♦) (2♣/2♦)                         = both Majors – weak or strong
(1♥) 2♥ (♠ + minor)  (P) 2♠    = to play
                                           2NT = forcing
                                           3♣   = pass or convert
                                           3♦    = to play or 4/5♣ (Multi style)
                                           3♥    = invitational to 4♠
                                           3♠    = competitive
(1♠) 2♠                                       = ♥ + a minor
(1♥) P  (P) 2♥ = Michaels
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	LEBENSOHL – Slow Arrival NO Stop
-v- Intervention over 1NT; weak 2s; partner’s reverse


	Response	
	Meaning

	Suit at the 2 level
	Natural sign off

	Suit at the 3 level
	Natural and forcing

	2NT
	Asks pd to bid 3C then pass or correct

	2NT, then 3NT
	No stop in known suit

	2NT, then a suit that could have been shown at the 2 level
	Invitational

	Immediate 3NT
	Stop in known suit

	Immediate cue bid of a major
	Stop + 4 cards in other major

	2NT then cue bid of major
	No stop + 4 cards in other major

	Double
	Take-out. 8+ HCPs

	
1♠  2♦  2♠  2NT = Lebensohl





	



FLANNERY - 2♥ opening – limited hand (11-15) with at least 5♥s + 4♠s (always longer ♥s)

2P 2NT P
3  = 4-5-1-3
3  = 4-5-3-1
3  = 4-5-2-2, min.
3  = 4-6-(2-1) or (3-0) (Min or max)
3NT = 4-5-2-2, max.


4  = 4-5-0-4
4  = 4-5-4-0
4  = 5/6 (1.1 or 2.0)



